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[ Why?
» HEE =4 > S5 Al
s Where? -

s How?
M| M HEE HOIAX
(electrical resistance strain gage)

SG £ & & Xt m xyowa

m CC-33A (& +=1)) R 4
» Maker: Kyowa @@V
oAb -196~120 °C &

5 =0 7
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IR0 2HL =, 2 SO S0 JHX EEE E A

» =0l SO U =
OHIO & A
« IR0 EAS W AKX 2 HeA oA 21D 220
St E2lAlZ2 A
» BDI0FEE ZOIA 2
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1) S HALHI| (Abrading)
e AP (#300-600) 2 #1& J2I%0] HOIK 2
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S22 HHZFANLE
2) JI& A2 MH (Degreasing)
« Z2MZ 02 HOIX 2aE
=2 J|E/XE &2 Ml A
» OIMIE: HEX HS

= Ti, Plastics: OtAlE L& €=
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3) HIOI Xl 22 2| Xl & Al (Marking): “+” X
X0 BIZet MZ (Mck2)It Ot &< 6101 E
HOIXIE O|%5PO4 ED:' Hl A AKX
» 4~6H HAE (Al), =M (Steel)
4) HIOIZO0 HOIXI2tHOIE & (Settmg)
 HOIXIZET/ME R&HO0| Ot 2 SotH =5

» SISIEORZ JHRE Bl

ron

e HY (238) :':ﬁ‘ij ___?,...;_;?/.’___
= JHOIXl & HIO0IXZ (PCT-2M) Q‘

C 5§
= HOIZE 02 (<4592 éﬁ’“
S0l 22 A

,

- A
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5) HOIKI Al E A 2 Xl AlFI2I] (Positioning)
« JHOIXI/HIOIE & & 2AXI0 R XIAIZ]D]
» AZ Al AIE
» 2R EEEUS U HHM HE S0 = =X &t
» PCT-2M tape
. 02t (<4590 2 [0

0I0

\ A o e p‘& B 3
- 7~ /'..’
4 \J h S // 1= ) J J

6) S0I=217 (Lifting)
» HOZZES &
02t (<4502 SOl 22 -,.
7) & Z Al (Adhesive) -
» CC-33A &= A
S EH OIA )0
A 1~2 &= =28

8) S & (Installation) . g

- X EHHOZ A # S gar
s ZQEH[|eE HX E 0|2 ) o~
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=21 AJ| (Holding)
n 2 EIEL=2 M =
. 1~3 keflom? = 100~300kPa  ===H_)
. 12 HZ (T>20°0)
. 232 (T<20°C) -
s SAHALIZ2Y

g\
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! 10) HIOI = S AL J| (Peeling-Off Tape)

. A XzEOZ o

. OlaEO FE of SN
11) & & (Soldering) \%
12) 2 & (Coating) -. S
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The Wheatstone Bridge

= g

= Null-balance system
» )| EE (E=0)

R R, = R)R,

s &5 32

AF = r, A&_}W2+A&_éﬂ4
(1+r\ R R, R, R,
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. R,
]V ife<5%, r=—
Rl
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' « Ul JHX| LBER QI B3I

Bridge Quarter, 1/4
Item (1A)

Half, 2
(1A+1D)

Half, >
(1A+1D)

Full, 1/1
(4A)

Ead

2L 8A No Yes
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i Vishay P3 Strain Indicator

m 4Ch. &3

A GIOIE M &

m 0~2.5Vdc Ot 2] &<

m Vi, Y, full BElAl DS

n BlAE N HE

m 120-, 350- & 1000-€2 dummy gages
s AMES EE LE X 2 EH (calibration)
= USB A

s PCEH NN Jt=s

HHE1E| USBor 28t &3 (HEH)

MNTL 13

|

» HEjE

Channel Record ‘
T =3 T e ]
pr—— Brldge Balance =
2 xﬁ Pd Display
— [ e ,
K OF | SCMNG 3
' Calibration 1] F.,;::m _| o i
@ R LGt -ﬁ :JO;T; B ?I::z | {\j-[)
— —— Analog =
. [—HI amplifier
Power L1 ght 9.v I::: X to X1
Gage Factor/Scaling
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& =AM

HOIK 2=, 24 L P30l AZ
&3 On & Warming Up
SHNE O

old ESAl & &

@O0 |

=8 2 U0 ME
(Analog & Digital)
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Strain-Gage &l £ 2 & (Calibration)

» HEE S ANLE

= Strain gage, power supply (either constant voltage or
constant current), circuit-completion resistors,
amplifier, recording instrument

=M AAE AT B

« DX NER HE oA

nnnnnnnnnn
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''''''
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RR. AR, R, —R, R,

* TR +R R R,  R,+R
RR, R, RR (o,

TRARYR+R (R+R)

I
e g(R2+R()
» 28 MR SEE =5 UHe BHE

= Example: R, =R, =350 Q, 5, =2.05
R.=100Q — ¢,=1700 pe
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Xl & (close)
ENCRPIES
Xl o Xl (open)

| ol&t 223 (d) )=
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¢, = (d,/d,) e, =2650u
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Guess How?

A: 3002 DI X% — 3012 &A A4, 4, 6.)

.2 .
el= fsin” 0, Hy, |siné, cosb, -
2= g, |= [sin* 6, Hy,lsin 6, cos 6,
_ . 2 .
A Jsin” 6, +|y, kin 0, cos 6,
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A E 2l 2 M E (Strain Rosette)

| =
s AEH O 2 HEQ HEH [http://www.vishay.com]

= 0°—90° .
b R
i
m 0°—45°-90° -
(Rectangular)

m 0°—60°— 120°
(Delta)
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Y e AEY0 2HE A

m 0°—45°—90° (Rectangular) F (545

y /M &0
) A

g, =&.€08°0° +& sin” 0° +y_ sin0° cos 0°

£45s =&,C08" 45° +& sin?45° + y_ sin45° cos 45°
p) . .

£y = &,€08°90° + & sin*90° + y_ sin 90° cos 90°

=8y, =89 Vi = 2845 — &) — &y
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s 0°—60°—120° (Delta) €120

2 .2 .
&, =¢,c08"0°+¢ sin“0°+y_sin0°cos0’

o =&
Eqo = &,€08° 60° +& sin” 60° + . sin 60° cos 60° % -
o &, + 38_1' + \/gy.\jm‘ 86(; ’y
4

Epy = €, €05° 120" + & sin* 120"+, sin120° cos120° X

_ g.‘.‘ + 381 - ‘\/5;]/“
- 4
2(‘96(1 +‘9|20)_‘9 2(560 _812{))

0 _
3 E] }/_\:1' ‘\/g

LE =&, £, =
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il Al 1

m Given: g, = g ="11000 pe, g = &, = 1750 pe,
E.= & =-650 pe

C

m Sol.

e, =¢&,=+1000pe
_ 20+ &10) =& _ 2(=650+750)-1000 _ 800

= 3 ) 3 3
, 2 —€10)  2(-650-750) 2800 e
v V3 V3 V3
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Hooke’s Law (PL. 0): SG &

gl_:i[al,—vax | o, = E2[£1_,+Vgx]
gt R TR
1
E B
1
Vip = G i
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Cil Al 2

s Given: g, = & = 11000 pe,
& = 190 = 750 p,
& = & = -650 pe,
E =200 GPa, v=0.3

= Sol.

800 2800

&, =+1000pe, &, =———pe, y,, =— g
3
0, = Ez [8\.+v€1.]:200x10 ypa[IOOO—O.Bx@}xm-ﬁ
B e ' 1-0.3 3
=202.2 MPa
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3
o, =— e, +ve,|= 20010 Mpa[—ggoﬂ—OBXIOOO}xlOG

Y=y -0.3
=7.3MPa
\“ 3
rw:G?’n-:—L yw:200x10 MPa [ -2 ] g0
g P 21+v) " 2(1+0.3) V3
=—124.4 MPa
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Principal Stresses
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o = —* > — | +7,
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Mohr & (Pl. )
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GIDNIC

s Given: g, = & = 11000 pe,
& = €120 = T750 L,
& = &g = -050 pe,
E =200 GPa, v=0.3

= Sol.

o, =2022MPa,c, =7.3MPa, 7, =—124.4 MPa

g, = 202247 +J[202'22‘ & ] +(-124.4) =262.8MPa

2
o, =0MPa
o, =—-53.3MPa
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o —o.  262.8-(-53.3)

Tmax — max min_ __ 2 — 15805 Mpa

2

2
| > >
O = ﬁ \/ (O'l — 0, )- + (02 — 03 )- + (03 — 0, )

1 5 5 2
=——4/1262.8—0) +(0+53.3) +(—53.3-262.8)
(262807 + (053] + )

=293.1 MPa

MNTL 30




